
 

 

 

 

 x > 50   x ngupJ 50 I tpl  

 a ≤ 30  a rpwpJ my;yJ rkd; 30 

 ml;ruf; fzpjr; rkdpypfs;  

 

    

 

 

 

cjhuzk; : 
1. x + 3 > 7 

i) x  vLf;ff;$ba KOntz; ngWkhdj;ijj; njhilahf vOJf. 
x + 3 > 7 

x > 7 – 3 

x > 4  { 5, 6, 7, 8……} 

ii) x vLf;ff;$ba KOntz; ngWkhdq;fis vz;Nfhl;by; Fwpf;f. 
 

 
 

gapw;rp 

gpd;tUk; rkdpypfisj; jPu;j;J mjd; KOntz; njhilfis vOjp KOntz; 
ngWkhdq;fis vz;Nfhl;by; Fwpf;f. 

1)  x + 4 > 10 2)   2x + 3 < 13  3)   12 > x – 3  4)   3x – 5 >10 

 rkdpypnahd;iw kiwnaz;zhy; tFf;Fk;NghJ FwpaPL khWk; 

i) –4x ≥ 20 

x ≤  

x ≤ -5 

ii) x vLf;ff;$ba ngWkhdq;fis Xu; vz;Nfhl;by; Fwpf;f. 

 

iii) 3 – 2x ≤ -7   

-2x ≤ -7 -3 

-2x ≤ -10 

  x  ≥  

      x ≥ 5 

khfhzf; fy;tpj; jpizf;fsk; rgufKt 

thuhe;jghlrhiy 

 fzpjk; 

juk; 10 S. tp[aFkhu; - nj`pNahtpw;w j. k.tp. 

thuk; 02 

rkdpypf;fhd FwpaPLfs; 
> -      ngupJ 
< -      rpwpJ 
≥ -      ngupJ my;yJ rkd; 
≤ -      rpwpJ my;yJ rkd;  



 

gapw;rp 

1) -3x ≥ 27   2)  18 ≤ -2 -4x   3)   -4x + 6 ≥ -18   4)   12 – 6x ≤ 36 

 

tbtpyhd rkdpypfs; %yk; fhl;lg;gLk; gpuNjrq;fs; 

cjhuzk; :    

 

 

 

 

 

gapw;rp 

1. x > -4 vDk; gpuNjrj;jpy; cs;s Ms;$Wfis vOJf. 

2. x ≤ -3 vDk; gpuNjrj;jpy; cs;s Ms;$Wfis vOJf. 

3. y ≥ 1 vDk; gpuNjrj;jpy; cs;s Ms;$Wfis vOJf. 

4. y ≤ -2 vDk; gpuNjrj;jpy; cs;s Ms;$Wfis vOJf. 

5. x ≥1 , y ≤ 1 Mfpa ,uz;L gpuNjrq;fSf;Fupa 3 Gs;spfspd; Ms;$Wfis vOJf. 

 

 tbtpyhd rkdpypfs; 

cjhuzk;  

  

 

 

 

gapw;rp 

1. x ≥ 1 , y > x Mfpa ,uz;L gpuNjrq;fis Ms;$w;Wj; jsnkhd;wpy; epow;Wf. 

2. y < -3 , y > x Mfpa ,uz;L rkdpypfisj; jpUg;jp nra;Ak; 3 Gs;spfspd; 

Ms;$Wfis vOJf. 

,jd; Ms;$Wfs; 

(1 > 3) (2 > 3) (4 > 5) (-1 > 3) 

y ,d; Ms;$W 2 I tplg; 

ngupjhff; fhzg;gLk;. 


